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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 200,000
Al 10,115,370
SAE HIIZE MelANE 29 8,588,471 13,462,849 N4 ,874,378
201 Bt 49d]| 12,640 12,640 0
01 AP 22| H| 12,640 12,640 0
O Yu+gY| 7,640
o SASXAGFAL SHE A £48
135,000& * 43| 540
o FOUXJE2AM 3o L FUALAHZ I 2,100
- @0t 80,000 * 444 = 53| 1,600
- 3ogs3 100,000& = 53| 500
o TAEHIIZESENHEANLE & SAE N
SN 2E2 U HA
2,0008 x 1,2508 x 2= 5,000
O 8&9x¢ 5,000
o TAEHIIZES SEHM2AE FOXAEY
A 3o &AM =Y 100,000& * 10¥ = 53 5,000
202 044 5,490 5,490 0
01 2U 01 b 5,490 5,490 0
O TAEHIIES ESeHeAE A=A A
20,0003 * 29 * 42 x 128 1,920
O A22ZAE & SAZ HelAlE A&X] AS
85,000 = 2% = 32 = 33 1,530
O sS4l NISAE SHx =2HA 23
85,000 » 1Y = 1A = 43 340
O TAEHIIZSZES ™AL (AL, SA2SHE
ANE) QL0 B2 5o F4(2F2 S)
85,000& x 2% x 2Y x 53] 1,700
301 et A =2 84,693 67,443 17,250
09 SHAIAHI X & 2 3,000 3,000 0
O HIISZXEAIE =HXSE =00 HS&XASH
50,000& = 30¥ = 2 * 13 3,000
12 JIEtE2 A= 81,693 64,443 17,250
O SAEHIIS SEHMHEAE 24IA 2
OIMlEE 5,000,000& = 3= 0¢ 15,000
O HIISHM2AIE ZAIES AlH 24 66,693
o QIAH| 81,8603 * 2% * 5L x 48x%F 39,293
o F4¢E 81,860 x 2H x 48=F 7,859
o H&aZEZ4E
81,860 % 1.5 x 28 « 53¢ 13,016
o 224
81,860 * 1.5 = 28 x 84 1,965
o BHE = 190,0008 = 2% * 12& 4,560
307 2Iz2t0| & 4,194,456 3,946,650 247,806
05 QIZ2tRE 2 4,194,456 3,946,650 247,806




M ZAlOISH

HM: HIIS &8&F M2 (2Z/HIIS)
Ce: MEHIS Xelolgt i‘% (2 &HH)
(o
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
O S8A27 HJI2 HMelAl&(BT0) 2¢
3,954 ,456,000& = 14! 3,954,456
O ZAEHIIZ SEM2AE HE el
20,000,000& * 12& 240,000
308 AXIEHSOIA 2,656,092 5,270,626 N2,614,534
1122 SUHUSHEAEAE A Y| 2,296,092 4,910,626 N2,614,534
O ZAEHIIZ SEM2ANE A 29
2,296,092,000& = 14! 2,296,092
12 JIEIR = 360,000 360,000 0
O AZAA HIOIZ2 2 8242
10,000& = 30,000& * 1.2 360,000
403 XX SHHS K20 & 1,635,100 4,160,000 N 2,524,900
02 BI2SHUSX=2EAEAIE Y 1,635,100 4,160,000 N2,524,900
O ZAEHIIZ SEM2AANE A 29
1,635,100,000& = 14! 1,635,100
SHE HIIZE M2lAE 29 779,109 667,329 111,780
201 et 391,729 366,729 25,000
01 AFR 2t 2| bl 186,489 161,489 25,000
O et 155,289
o AAIE CHOISA A 242 (2FE,
=22&, dE) 4,000,000 = 3JH A 12,000
o THXS AAAE HIIQHHBE Y =
=2 12,000,000 = 14! 12,000
o MHEAIE =B Xot4E=2ZAME HIIZAMN =
= 167,500 * 3X&E » 514 x 43] 10,050

i ZOIZA 228

5
8109 * 2XI& * 1HA »

579 43| 4,639
o HWEANE FINBAN ==2(32E, ¢2E)
6,000,000& * 2004 = 13 12,000
o Kot (Ma8=) HIFMN =52
600,000& * 10H2 « 13/ 600
o SHEMHJIIES MelAE A28 7
10,000,000 * 6IH A + 13l 60,000
o AZAE UIIRISE U =22 44,000
- HA2& 2 400
2,000,000& = 5JH4 * 28] 20,000
- o5 1,000,000& * 104 * 243 24,000
O gxz 28,500
o SOEHJIIZS MelAME HWEHII=S =
Hl Ext 28,500
- o 3,750,000& * 64 13 22,500
- EAX 500,000 » 6 = 13 3,000
- 8= 500,000& * 62 + 12l 3,000
O II=Hl 2,700

o SOHEHJIIZ XMclAlE Di=ted LS 2,700
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o HIIE 28X Hel(2A/HIIES)
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2 S 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
- &= 100,000 * 18H 1,800
— QN G} 50,000& = 18Y 900
02 E2=2=2%H| 205,240 205,240 0
O 2222 2 HA 53,240
o sHZEHJIIS HelAE dIE L AdtE:
= 700,000 * GIHA + 12& 50,400
o SHEHIIS A2AE SHM B
200,000€ « 104 200
o THNXY HIISHIAA CCTV S8 QIF
u g2 220,000 ~ 12€ 2,640
O = H| 26,500
o SHEHIIS A2ANE KFUH
5,300,000& = 5JH A&~ 26,500
O A&EEHI KXY 47,500
o sHEHIIE MelANE SRANE=
9,500,000,000& * 0.5% 47,500
O Xt& - deHd| 78,000
o =HEHIIS EAXNYE 74U ¥ HH R
Xl HI 78,000,000& * 14! 78,000
202 044l 3,580 3,580 0
01 2Ll 3,580 3,580 0
O =sHEZHII=S MelAlE §& ol
50,000 » 2 = 12 % 12& 1,200
O sHEHJI= XMelAA Kok ZAIE & ol
2= AMEMF, =E22A 22
85,000& x 2¥ x 83| 1,360
O HIISM2IAlE MOILE &4 & HXX AS
85,000& x 3YH x 2Y x 23] 1,020
206 M = H| 43,420 43,420 0
01 X2 H| 43,420 43,420 0
O gitockrEnol(22 o o)
25,000 * 17J04A = 108 ~ 6& 25,500
O 2 #¢ 17,920
o QMIjEIAlA
4,000 = 150m * 6N = 43| 14,400
o Z2H0|0HE Al &
4,000 = 20m * 11024 = 43| 3,520
207 I & d 40,000 35,000 5,000
01 g EAY| 40,000 35,000 5,000
O &atH HE HMNKAMOHEAIE AIZ22] S
o) 40,000,000 * 14! 40,000
401 Al HI L 2 THYI 270,380 137,600 132,780
01 Al& H| 270,380 137,600 132,780
O sHEMEHIIZ2 SEXMAE Y|
270,380,000& = 14l 270,380
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M OIS &8 Ma2(BA/HIIS)

f: MEHIIZS Malolgt 4%

= (o
SAH-EB. S (3H) - HEAY - BE2 0 AF o il HDS2
405 XHoHF SHI 30,000 81,000 A51,000
01 Mt =S FSHI 30,000 81,000 251,000
O sOHEHJIS HEAE 2 2= 2L
==, £5) 10,000,000& = 3CH 30,000
S AR FOIBHE & 2<g 96,600 97,200 A 600
201 LBEt2 Y| 96,000 96,000 0
01 At 22l Yl 96,000 96,000 0
O Yx2 96,000
o HIlZ 2% T4 YX
3,750,000& * 2 * 23] 15,000
o g HIIZ2 2= AUl Xt 44,000
- =4
500,000& = 204 = 2 = 11 22,000
- & X 500,000& * 200 * 2 x 110 22,000
o 20I0HEH =& Ul dX 22,000
- =4 500,000& * 1124 = 23] 11,000
- gz 500,000& * 112 = 23 11,000
o Z0IHHE =SET 28 A8 Xt
3,750,000 » 22 x 23] 15,000
202 04| 600 1,200 A 600
01 2LHOHI 600 1,200 A 600
O SAXNSY 2t0I0HEH 2JaH 82 L ol
50,000& * 2 * 63 600
HEE sHEHIIZE SEHAE &l 750,320 517,820 232,500
= 200,000
Al 550,320
201 et A | 3,120 13,120 A 10,000
01 AFR2t2l Yl 3,120 13,120 A 10,000
O gtx==H| 3,120
o sSHEHIIZ2 HelA&E Alr48x =2 &
H3| A 3,120
- @9 80,000& = 3M A * 33 720
- EE2 3,000& * 20058 * 33 1,800
3OS Z 200,000& * 33 600
202 (4] 1,200 1,200 0
01 2L Y] 1,200 1,200 0
O HEZ sHEHIIZE HeAld eSS s
& ol 50,000& * 3¥ * 83| 1,200
401 Al B 2 0HHI 746,000 502,500 243,500
= 200,000
Al 546,000
01 A& HI 746,000 502,500 243,500




2M: SAIDISD
Ha: Hol2 58X Hel(2B/HII2)
F

S MBHII2 Meldlgt &35 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O A2& HII2 MelAld &7 XA
286,000,000& * 14 286,000
= 200,000
Al 86,000
O HEE HIIZE MelAE X0 TGE =¢
KA 460,000,000& * 14l 460,000
=& A2 H2AIE A 30,800 0 30,800
202 O4dl 800 0 800
01 = LH 4 Hi 800 0 800
O 2% sOHEHII2 MelAld ddzg 98 &
& el 50,000& = 2H =« 83l 800
401 A& HI K 2018 30,000 0 30,000
01 A& Bl 30,000 0 30,000
O =& A2ZAIE AR4EXI0 OHE BEd XA
L Il=AHE Y 30,000,000& * 14 30,000
SANEHIIE SEMeANE 5L 70,070 0 70,070
401 AIEHI L 2CHYI 70,070 0 70,070
01 A& HI 70,070 0 70,070
O ZAgHII= SEEXeANE Z2EY =8 &
B XA ES 70,070,000 = 14l 70,070
HY2AZHI (S AIOIS ) (DIEH/DIIEL) 107,369 115,464 A 8,095
el 2l 28,650 36,946 A 8,296
ol 2AH| 28,650 36,946 A 8,296
101 124 dl 28,650 36,946 N 8,296
01 2= 8,452 8,193 259
O 2YEI N&BH §L224(72)
88,0343 * 23 « 48 8,452
03 SR (RIHY)22HE S 20,198 28,753 A 8,555
O M2 10,719
o <L>AF 10,719
- WEe dgos
15,046% * 18 » 20A12F = 1220 & * 150 5,417
%
- HJlE 28I NE&
14,7263 » 18 = 20AI2F = 12003 * 150 5,302
%
O s¢22+H 9,479
o HWEESHEE N&
180,553& » 198 » 292 5,237
o MgJ SEEI N
176, 7163 » 198 » 242 4,242
JlEZ3l 78,719 78,518 201
JlE2&l 78,719 78,518 201




M S A0S
FM: HE2AZH (S AOIstD)(J1EH/DIE

¢l =gl CEE-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 47,806 52,405 A 4,599
01 At 22l 32,843 32,843 0
O Let+=ZH SHAA 8,023,000& * 14 8,023
O =&l 24,820
o BN2Y 2TH BUNY
13,096,000& * 14 13,096
o ME . ZSAER HIS2YUEI ZA(SY
s S2=44l) 11,724,000& * 14 11,724
02 =224l 14,963 19,562 A4,599
O 3322 % MA sd8AH 4
14,963,000& * 14 14,963
202 Odl 27,313 22,513 4,800
01 = LH 4 Hi 15,793 10,993 4,800
O BNA2Y SHA & 10,993,000& 14 10,993
O demle s85I Nesx 2o
20,0003 = 1 = 10 ~ 12& 2,400
O NS (Hagds, HAEX, S0lB)=HA
2t o4 i 0,000& = 1& » 10& » 123 2,400
02 N 11,520 11,520 0
O HIl=23d AMEE XNE &5
160,000& = 3H = 12& 5,760
O Mz - ZASR HIIES 285 N o=
160,000& » 2% = 12& 3,840
O 1:E3 MEAM N =
160,000& » 198 = 122 1,920
203 YR =& 3,600 3,600 0
04 FN2ELRZ=TH| 3,600 3,600 0
O SADISH(HEA 20Y) 300,000& = 12& 3,600
MRS (S ADISD) (BE/HIIS) 1,528,000 75,000 1,453,000
WHEHHX S 1,528,000 75,000 1,453,000
LHEHeH X = 1,528,000 75,000 1,453,000
702 JISHEES 1,528,000 75,000 1,453,000
(RWIE=RSE-A= 1,528,000 75,000 1,453,000
O HIISHMAMNE F=HXY FUXAINS(ZAl
SHJIE SEHMANE FEHIYA)
75,000,000& = 14 75,000
O HIISHelAE &XRE=s ¢
1,453,000,000& * 14 1,453,000




